
[%] AKπK RKπK/π AKKK AKKπ RKK AππK Aπππ Rππ RπKADS(π) RπKADS(K) AπKADS(π) AπKADS(K)

PID 42 95 11 1 38 9 9 39 29 25 15 5
Bkg 65 190 34 3 84 30 28 48 69 74 24 15
Sim 21 250 14 0 24 8 7 13 29 30 8 5
Asym 23 27 11 34 6 7 20 5 12 13 7 8
Total 83 330 40 34 96 33 36 64 81 85 30 19

[%] RKπππK/π Rππππ RπKππADS(K) RπKππADS(π) AKπππK AπKππADS(K) AπKππADS(π) AππππK Aπππππ

PID 37 43 1 2 1 1 0 0 1
Bkg 63 28 40 33 2 36 8 54 21
Sim 160 0 0 0 0 1 0 0 0
Asym 20 5 7 6 16 5 5 8 22
Total 180 51 41 34 16 36 10 54 30


